OIFL GofX] = AHAYUHA
Se{dNX| OofSHIS  MIIHH
AFOHEE M 21517| kx|

By EC{=E|
BBConf 24 Winter



o)
.|

Z0|22 A

O|7H XfAAO= A3
o CHH| 22 A

L—

|0|°*°77r K[k

" A BH

o X|2 Z|AFZ}HIT AH|A S| A7} OFL|2FA

XF HLXE &
= El-_l'__A °|'E|'
M3 T2 MEO| HIYo|E 2H2 Ao XM O SRS}
HEH2S Z2j|o|st= Al 22 JfLsts £0] IRHES FI%sH 0| QSLICL 0| TR E S Poptile0|2hs # 7|8t I
S E[HEE %% Hdst= Al 22 VLSt= 20| SERSLICE SHI= 0] Ao CHEt 24 It§7l Al
F87| 20| w2t 2 + Y= HSIA} QICkE MO|JSLICE M= 0| 2
&LICh

HE siEsto| ?ioh, Cr3at 22

Al

o
x| %
S

|3

T=

==



Table of Contents

< §0{7}H

N atgol| AF2E poptile & 1%

| X S20]E bot 7HE

/)i\
H0
R
o
QO
=
-
rof



& B0{7HH

test
Score : 1837

@ oiuisiold =3t SINGLE PLAY LEADERBOARD

Name Score Touches Score per touch
Magister2 559,657 5,369 104.2
B30 545,676 3,205 170.3
72| 395,687 2,154 183.7
Magister 336,864 3,342 100.8
crazRe o 279,350 1,757 159
judy5 242,427 1517 159.8
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def state_value(board: Board) -> int:
temp_values = {
‘top_height': get_top_height(board),
‘components': count_components(board),
‘var': avoid_valley(board)

}
return sum( [
temp_values|['top_height'] * 100,

temp_values['components'] *x 2) / 10,

temp_values|['var'] * 10
1)
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Magister 336,864 3,342 100.8
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Z7\2| 395,687 2,154 183.7

Magister 336,864 3,342 100.8
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future_reward = future_reward * discount + game[idx].score - game[idx - 1].score
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future_reward = future_reward * discount
future_reward += np.sqrt(gamel[idx].score — gamel[idx — 1].score) *x (1 — STABILITY_ALPHA)

future_reward += (15 - self.get_top_height(gamel[idx — 1].state)) *x STABILITY_ALPHA
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Touches Score per touch

Magister2 559,657 5,369 104.2
x7|2| 395,687 2,154 183.7
Magister 336,864 3,342 100.8
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